	
	ALGEBRA 2 CHAPTER 2





Name: _______________________

Study Team Test






Date: ______________ Period: ___
Show all your work and reasoning.  Use a pencil and highlight your answers.

	
	1.  Solve for x.

	
	a)  
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	c)  
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	d)  
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	e)  
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	2.  If 
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	a)  
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	c)  
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	d)  What value(s) of x will make 
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	3.  Solve each system of equations.  

	
	a)  
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	4.  Simplify.

	
	a)  
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	b)  
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	c) 
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	5.  Determine the multiplier.  

	
	a)  A virus is increasing at a rate of 27% each week.                   

c)  The value of a stock is decreasing by 12.25% per day.    
	b)  A great sale with 40% off.

d)  Carlsbad sales tax of 8.75%.

	
	6.  All that is known of a sequence is that it starts with 4, 12, ... and the fact that 972 was another term of the sequence.  

	
	a)  If the sequence is arithmetic, 

(i) what is the rule of the nth term? 


	b)  If the sequence is geometric, 

(i) what is the rule of the nth term?



	
	ii) what is n when the output is 972?


	ii) what is n when the output is 972?
	(iii)  Determine the value when n = 16.



	
	7.  Complete the tables and write the rule for each of the following sequences.

	

	a)  the sequence is arithmetic.

n

0

1

2

3

4

t(n)

–2

–10


	b)  the sequence is geometric.

n

0

1

2

3

4

t(n)

72

2592



	
	8.  Determine the equation of a line that passes through the points (–2, 3) and (1, 1).

	9.  A rookie math teacher was just hired by the school board.  Her starting salary will be $40,000 and will increase 2% each year.  

a)  write the rule to determine her pay after n years.
b)  When will her annual pay exceed $60,000?

	
	10.  Determine the domain and the range for the following functions.

	
	a)
Domain: _______________
Range:   _______________
	b)
Domain: _______________

Range:   _______________
	c)
Domain: _______________

Range:   _______________

	
	11.  Investigate the function 
[image: image18.wmf]8

2

)

(

2

+

-

-

=

x

x

x

g

.  Make a complete graph.

	
	x–intercepts:

	y–intercept:
	

	
	line of symmetry:

	vertex:
	

	
	domain:
	range:
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